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1.
The main economic variables that affect business cycles include all of the following EXCEPT

	a.
	interest rates.
	c.
	personal savings levels.

	b.
	external shocks.
	d.
	business investment levels.



2.
An accurate statement about the Great Depression would be that

	a.
	it was a normal part of the business cycle.

	b.
	it was caused primarily by overspending on government programs.

	c.
	it ended largely because of an increase in defense spending related to World War II.

	d.
	while its effects were severe among the lowest income levels, it had little impact on the wealthy.

	
	



3.
All of the following measures help promote technological progress EXCEPT

	a.
	investing in the education of workers.

	b.
	increased wages for researchers.

	c.
	reducing the scale of the market for a new product.

	d.
	issuing a patent to a company that invents a new product.



4.
What do taxes collected under the Federal Insurance Contribution Act (FICA) fund?

	a.
	Social Security and Medicaid

	b.
	Social Security and Medicare

	c.
	Medicare and Medicaid

	d.
	Medicaid and Supplemental Security Income



5.
Which of the following defines a means-tested program?

	a.
	Eligibility depends on income.

	b.
	Any person who is a U.S. citizen is eligible.

	c.
	Age is a major criterion for eligibility.

	d.
	People pay first and receive benefits later.



6.
An accurate statement about bonds would be that

	a.
	they are insured by the FDIC.

	b.
	they are generally held for 3 or 6 months.

	c.
	they are usually a low-risk investment.

	d.
	they entitle the holder to a share of ownership in a corporation.



7.
The interest rate the bond issuer pays to the bondholder is called the

	a.
	coupon rate.
	c.
	discount rate.

	b.
	maturity rate.
	d.
	value rate.



8.
Savings bonds differ from most other bonds in that

	a.
	they provide a higher rate of return.

	b.
	they are held for a shorter time.

	c.
	the buyer does not receive periodic interest payments in exchange for a lower purchase price.

	d.
	they are issued in fairly large denominations in exchange for a lower purchase price.



9.
To finance the building of a new police station, a local government is most likely to issue a

	a.
	junk bond.
	c.
	municipal bond.

	b.
	treasury bond.
	d.
	money market bond.



10.
Investing in a money market mutual fund is a higher risk than investing in a certificate of deposit because unlike CDs, money market funds

	a.
	are not insured by the FDIC.

	b.
	are not protected by the Securities and Exchange Commission.

	c.
	do not earn a fixed interest rate.

	d.
	must be held for a preset amount of time.



11.
What is a major disadvantage in the use of import barriers to make domestic goods cheaper?

	a.
	Domestic manufacturers create more jobs for both citizens and immigrants.

	b.
	Domestic manufacturers may lose the economic incentive to become more efficient.

	c.
	Import manufacturers stop trying to send their goods to the country that has import barriers.

	d.
	The line between imported and domestic goods becomes harder and harder to draw.



12.
What does it mean when an economist says that an area specializes in producing certain products?

	a.
	They use their resources to produce a limited range of goods.

	b.
	They produce only certain goods rather than everything they need.

	c.
	They produce only goods for which they have an export market.

	d.
	They use the money from their exports to buy food and fuel.



13.
U.S. industries like steel, computers, and energy need to be protected from foreign competition to ensure which of the following?

	a.
	the economic advantages caused by their production

	b.
	the protection of these industries as they develop

	c.
	the presence of these industries during a crisis

	d.
	the incentive for these industries to become more efficient



14.
What is an infant industry?

	a.
	a young or developing industry

	b.
	an industry making products for infants and children

	c.
	an industry that has tariff protection

	d.
	an inefficient but necessary industry



15.
What is the European Union?

	a.
	a union of the six countries of the Common Market

	b.
	a pact between Europe and the United States regarding tariffs

	c.
	a regional trade organization of European nations

	d.
	a political amalgam of European and Asian countries



16.
Which of the following is the best example of the law of supply?

	a.
	A milling company builds a new factory to process flour to export.

	b.
	A catering company buys a new dishwasher to make their work easier.

	c.
	A food producer increases the number of acres of wheat he grows to supply a milling company.

	d.
	A sandwich shop increases the number of sandwiches they supply every day when the price is increased.



17.
What do sellers do if they expect the price of goods they have for sale to increase dramatically in the near future?

	a.
	store the goods until the price rises

	b.
	store the goods indefinitely regardless of when the price rises

	c.
	sell the goods now but try to get the higher price for them

	d.
	sell the goods now and try to invest the money instead of resupplying



18.
Which of the following is a fixed cost for a store?

	a.
	short-term workers
	c.
	advertising

	b.
	rent
	d.
	inventory



19.
When the selling price of a good goes up, what is the relationship to the quantity supplied?

	a.
	The profit made on each item goes down.

	b.
	It becomes practical to produce more goods.

	c.
	The cost of production goes down.

	d.
	There is no relationship between the two.

	
	



20.
What is the effect of import restrictions on prices?

	a.
	They cause prices to rise.

	b.
	They cause prices to drop.

	c.
	They often cause prices to rise steeply and then drop.

	d.
	They usually do not have any lasting effect on price.



21.
An example of equity is

	a.
	a treasury bond.
	c.
	a treasury bill.

	b.
	a share of stock.
	d.
	a long-term certificate of deposit.



22.
An example of blue chip stock might be

	a.
	a new start-up firm.

	b.
	a foreign-owned company that operates in another country.

	c.
	an established company that is traded over the Internet.

	d.
	a large, well-known company traded on the NYSE.



23.
When you invest in a mutual fund,

	a.
	your money is invested in a variety of insurance policies.

	b.
	you have easier access to your money than in a savings account.

	c.
	your money is invested in a variety of stocks and bonds.

	d.
	you are guaranteed a fixed return on your investment.





24.
You do not have to pay state taxes on interest earned on

	a.
	corporate bonds.
	c.
	money market mutual funds.

	b.
	treasury bills.
	d.
	junk bonds.



25.
All of the following are low-risk investments EXCEPT

	a.
	junk bonds.
	c.
	municipal bonds.

	b.
	treasury bonds.
	d.
	savings bonds.



26.
What economic status can the United States grant to countries that allows them to pay the same tariffs as other countries with the same status?

	a.
	voluntary export status
	c.
	fixed rate economic status



27.
Which of the following is an advantage for the host country of a multinational corporation?

	a.
	greater protective tariffs
	c.
	greater political power

	b.
	greater employment opportunities
	d.
	greater income from tariffs



28.
“Duty-free” shops in airports and on international boats sell merchandise that can be brought into the country without which of the following?

	a.
	political embargoes
	c.
	restrictions on quantity

	b.
	import tariffs
	d.
	restrictions on resale



29.
Which are the main trading partners of the United States?

	a.
	Germany, Great Britain, China, and France

	b.
	the Central American countries

	c.
	the European Union, Canada, Mexico, and Japan

	d.
	the Middle Eastern countries



30.
Which of the following is a treaty to eliminate all trade barriers between Canada, Mexico, and the United States?

	a.
	APEC
	c.
	CARICOM

	b.
	MERCOSUR
	d.
	NAFTA



31.
The main economic variables that affect business cycles include all of the following EXCEPT

	a.
	interest rates.
	c.
	personal savings levels.

	b.
	external events.
	d.
	business investment levels.

	
	
	
	



32.
An accurate statement about the Great Depression would be that

	a.
	it was a recession that became a depression because of World War II.

	b.
	it was set off because of a sharp and unexpected rise in interest rates.

	c.
	it was the most severe economic downturn in the history of industrial capitalism.

	d.
	its effects and duration would have been even worse if it weren’t for a strong economy in Japan and Europe at the time.



33.
The agency that maintains the National Income and Product Accounts (NIPA) is

	a.
	the U.S. Department of the Treasury.
	c.
	the U.S. Department of Defense.

	b.
	the U.S. Department of the Interior.
	d.
	the U.S. Department of Commerce.



34.
All of the following actions promote capital deepening EXCEPT

	a.
	raising taxes to pay for building roads.

	b.
	saving less and spending more of one’s disposable income.

	c.
	borrowing money from foreign nations to invest in building infrastructure in this country.

	d.
	a low population growth rate at the same time that capital stock expands.



35.
All of the following measures help to promote technological progress EXCEPT

	a.
	increased wages for researchers.

	b.
	issuing a patent to a company that invents a new product.

	c.
	training programs for workers.

	d.
	reducing the scale of the market for a new product.



36.
An example of equity is

	a.
	a treasury bill.
	c.
	a corporate bond.

	b.
	a share of stock.
	d.
	a short-term certificate of deposit.



37.
The most trades are made

	a.
	on the New York Stock Exchange.
	c.
	on the NASDAQ-AMEX.

	b.
	at the Chicago Board of Trade.
	d.
	on the OTC market.



38.
Products that would be used in calculating GDP include

	a.
	toys manufactured in China at a factory owned by a U.S. company.

	b.
	cars manufactured in Tennessee at a factory owned by a Japanese automobile company.

	c.
	plastic manufactured in a factory in Kentucky and sold to toy manufacturers around the world to make plastic toys.

	d.
	cotton cloth manufactured in India and sold to clothes makers in the United States.



39.
An example of a durable good would be

	a.
	a used car.
	c.
	a box of cereal.

	b.
	a paperback book.
	d.
	a pack of baseball cards.



40.
GNP minus the cost of depreciation of capital equipment is

	a.
	real GDP.
	c.
	national income.

	b.
	nominal GDP.
	d.
	net national product.



41.
Why does even a free market economy need some government intervention?

	a.
	to provide for things that the marketplace does not address

	b.
	to ensure that the government has the freedom to tax as necessary

	c.
	to make sure that the government can fulfill its needs for military personnel

	d.
	so that the government has some control over factor resources



42.
Which of the following is NOT a key economic question?

	a.
	What goods and services should be produced?

	b.
	How should these goods and services be produced?

	c.
	Who consumes these goods and services?

	d.
	How should it be ensured that goods and services are paid for?

	
	



43.
What does the process of specialization do for an economy?

	a.
	It eliminates unemployment.
	c.
	It fosters competition.

	b.
	It makes it more efficient.
	d.
	It makes it easier to control.



44.
How could the Chinese economy be characterized?

	a.
	free market

	b.
	centrally planned

	c.
	mixed, but on the side of centrally planned

	d.
	mixed, but on the side of free market



45.
What is one of the most important advantages of a free market?

	a.
	It can change rapidly.
	c.
	It is easy to regulate.

	b.
	It protects the less fortunate.
	d.
	It encourages growth.



46.
When a consumer is able and willing to buy a good or service, he or she creates which of the following?

	a.
	consumption
	c.
	elasticity

	b.
	demand
	d.
	allocation



47.
What determines the price and the quantity produced of most goods?

	a.
	the consumer’s perception of necessity

	b.
	the interaction of supply and demand

	c.
	the availability of substitutes for the goods

	d.
	the quality of the goods that are produced



48.
What are inferior goods?

	a.
	goods that are not well produced

	b.
	goods that no one wants to buy

	c.
	goods for which the demand rises when income falls

	d.
	goods for which the demand falls when income rises



49.
What determines how a change in prices will affect total revenue for a company?

	a.
	elasticity of demand
	c.
	values of elasticity

	b.
	the company’s pricing policy
	d.
	the consumers’ incomes



50.
What kind of system is the United States economy based on?

	a.
	cause and effect
	c.
	market

	b.
	centralized
	d.
	production



51.
What factor has the greatest influence on elasticity and inelasticity of supply?

	a.
	profit
	c.
	time

	b.
	labor
	d.
	financing



52.
Which of the following is an example of the way in which the use of technology can lower the cost of producing an item?

	a.
	the importing of fresh vegetables from South America rather than using canned vegetables

	b.
	the making of breads and pastries in local shops rather than large bakeries

	c.
	the use of e-mail to replace slower surface mail

	d.
	the delivery costs of gasoline to the consumer by diesel trucks



53.
Which of the following receives government subsidies that are in place to protect the population rather than for economic reasons?

	a.
	tobacco growers in the United States
	c.
	national airlines in Western Europe

	b.
	a national car company in Indonesia
	d.
	small farmers in France



54.
All of the following are examples of financial intermediaries EXCEPT

	a.
	a credit union.
	c.
	a finance company.

	b.
	a stock certificate.
	d.
	a life insurance company.



55.
The main advantage of diversification as an investment policy is that it

	a.
	reduces risk to investors.

	b.
	increases investors’ access to their money.

	c.
	offsets the effects of inflation on investments.

	d.
	guarantees a fixed rate of return on an investment.



56.
Which of the following is a good that might not be bought when prices rise?

	a.
	complement
	c.
	inferior good

	b.
	substitute
	d.
	luxury



57.
What does unitary elastic demand mean?

	a.
	The elasticity of demand is mathematically determined.

	b.
	The elasticity of demand is different at each unit on the price range.

	c.
	The demand is inelastic at a low price but becomes elastic as the price rises.

	d.
	The percentage change in quantity demanded is exactly equal to the percentage change in price.



58.
What is a company’s total revenue?

	a.
	the price of a company’s goods

	b.
	the amount a company receives for selling its goods

	c.
	the amount of goods a company can expect to sell

	d.
	the amount of profit a company can expect to make



59.
When prices rise, which of the following happens to income?

	a.
	It goes down.
	c.
	It rises to meet prices.

	b.
	It buys less.
	d.
	It is used to buy different things.



60.
Which of the following goods would be likely to be bought in the same quantity even if it doubled in price?

	a.
	shoes
	c.
	pencils

	b.
	telephones
	d.
	computers



61.
How quickly can an increase in government spending increase the gross domestic product?

	a.
	immediately
	c.
	6 months

	b.
	3 months
	d.
	1 year



62.
How could the Federal Reserve encourage banks to lend out more of their reserves?

	a.
	reduce the discount rate
	c.
	increase the prime rate

	b.
	raise the required amount of reserve
	d.
	reduce the money supply



63.
What does “lender of last resort” mean with respect to the Federal Reserve?

	a.
	It will lend money to a bank in a financial emergency.

	b.
	It makes decisions about who a bank can lend money to.

	c.
	It decides interest rates for interbank loans.

	d.
	It has the power to decide how much money a bank can lend out.



64.
What type of policy does the Federal Reserve use to counteract an expansion that is causing high interest rates?

	a.
	fiscal policy
	c.
	easy money policy

	b.
	tight money policy
	d.
	policy lags



65.
What type of policy does the Fed use to counteract a contraction?

	a.
	fiscal policy
	c.
	easy money policy

	b.
	tight money policy
	d.
	policy lags



66.
What incentive motivates a manufacturer to sell a product?

	a.
	making profits on sales
	c.
	pleasing the consumer

	b.
	putting others out of business
	d.
	popularity of the product



67.
Which of the following was a free market philosopher?

	a.
	Karl Marx
	c.
	Vladimir Lenin

	b.
	Adam Smith
	d.
	Friedrich Engles



68.
Which of the following is characteristic of a traditional economy?

	a.
	Communities tend to be fast-growing.

	b.
	They are usually based on light industrial production.

	c.
	They have a high standard of living.

	d.
	Children tend to have the same jobs as their parents did.



69.
What is the product market?

	a.
	the market in which payments are received for selling products to consumers

	b.
	the market in which income is received for supplying land, labor, or capital

	c.
	the market in which firms purchase the factors of production from households

	d.
	the market in which households purchase the goods and services that firms produce



70.
In what kind of an economy does the government make all the decisions?

	a.
	socialist
	c.
	centrally planned

	b.
	laissez faire
	d.
	free enterprise



71.
Ceteris paribus, or “all other things held constant,” is an assumption that has which of the following effects on a demand schedule?

	a.
	It takes only prices into account.

	b.
	It considers the effects of all possible changes on demand.

	c.
	It is accurate no matter what changes occur.

	d.
	It is accurate only at one price level.



72.
How did the existence of the baby boom generation change demand in the United States?

	a.
	Demand was raised for different goods with each age the baby boomers reached.

	b.
	After they reached the teenage years, the baby boomers were integrated into the society and no longer affected demand.

	c.
	People were poorer because they had so many children, so demand was lowered.

	d.
	The baby boomers did not raise demand until they became adults, when they had their own money to spend.





73.
What does it mean when the demand for a product is inelastic?

	a.
	People will not buy any of the product when the price goes up.

	b.
	A price increase does not have a significant impact on buying habits.

	c.
	Customers are sensitive to the price of the product.

	d.
	There are very few satisfactory substitutes for the product.



74.
What is a basic principle of the law of demand?

	a.
	The higher the price, the more people will want the good.

	b.
	Everyone has a limited income that they will spend.

	c.
	When a good’s price is lower, people will buy more of it.

	d.
	Services are of interest in the same way that goods are.



75.
How is the current demand for a good related to its future price?

	a.
	If the price is expected to drop, current demand will fall.

	b.
	If the price is expected to drop, current demand will rise.

	c.
	If the price is expected to rise, current demand will fall.

	d.
	Current demand is not related to future price.



76.
Which of the following resulted in a retaliation by the EEC of increased tariffs on lemons and walnuts from the United States?

	a.
	Smoot-Hawley Tariff of 1930
	c.
	Pasta Tariff of 1985



77.
What was the result of the Bretton Woods Conference?

	a.
	the creation of a fixed exchange-rate system for the United States and much of western Europe

	b.
	the creation of a flexible exchange-rate system for the United States and much of western Europe

	c.
	the creation of the euro

	d.
	the creation of NAFTA



78.
What happens when a nation’s currency depreciates?

	a.
	Its products become more expensive to other nations.

	b.
	Its trade increases.

	c.
	Its products become cheaper to other nations.



79.
What is a currency system in which each country tries to keep the value of its currency constant against one another called?

	a.
	a fixed exchange-rate system
	c.
	a floating currency exchange

	b.
	a flexible exchange-rate system
	d.
	a constant pricing system



80.
How do countries protect their domestic economy from excessive influence by multinational corporations?

	a.
	by raising the price of goods provided by the multinationals

	b.
	by developing their internal economies

	c.
	by limiting the supplies of the multinational corporation

	d.
	by requiring the multinational to export a certain percentage of its product



81.
What is the purpose of competition?

	a.
	to act as a regulating force in the marketplace

	b.
	to cause producers to attempt to put each other out of business

	c.
	to cause buyers to have to be careful about spending their money

	d.
	to act as a motivating force behind the free market



82.
What is the function of an economic system?

	a.
	to make sure all people have equal access to goods

	b.
	to produce and distribute goods and services

	c.
	to give all producers the same access to consumers

	d.
	to make sure people are paid for their labor



83.
What does the process of specialization do for an economy?

	a.
	It makes it more efficient.
	c.
	It fosters competition.

	b.
	It eliminates unemployment.
	d.
	It makes it easier to control.



84.
What is an important advantage of a free market?

	a.
	It does not change unless the government directs it.

	b.
	It offers a wide variety of goods and services.

	c.
	It is easy to regulate.

	d.
	It protects the less fortunate.



85.
Who was the leader that introduced communism and central planning to the former Soviet Union?

	a.
	Karl Marx
	c.
	Vladimir Lenin

	b.
	Joseph Stalin
	d.
	Friedrich Engles



86. 
Who generally bears most of a sales tax when the demand for the good taxed is inelastic?

	a.
	the retailer
	c.
	the wholesaler

	b.
	the consumer
	d.
	the producer



87.
Which of the following is one reason the federal government collects income taxes as a person earns?

	a.
	so that people do not realize exactly how much they are paying

	b.
	so that the money can be put aside until it is needed

	c.
	so that the government can pay bills as they come due

	d.
	so that taxpayers can qualify for refunds of excess tax



88.
What is a major difference between an operating budget and a capital budget?

	a.
	In an operating budget, legislation is needed; in a capital budget, no legislation is needed.

	b.
	An operating budget is raised by bonds; a capital budget is raised by taxes.

	c.
	An operating budget consists of small amounts of money; a capital budget consists of large amounts of money.

	d.
	An operating budget is for day-to-day expenses; a capital budget is for investment spending.



89.
What is an entitlement?

	a.
	a social welfare program providing benefits to people who meet certain eligibility requirements

	b.
	a social welfare program paying bills for government spending such as supplies and utilities

	c.
	a social welfare program spending funds over which legislators have direct control

	d.
	a social welfare program providing payments that the government receives for certain services



90.
What was one reason the U.S. government started a Federal Reserve system?

	a.
	to keep the banking power of the United States spread out among various districts

	b.
	to make sure that the U.S. banks were obeying laws regarding banking

	c.
	to have a place for banks to deposit their excess deposits

	d.
	to provide consumers with access to funds for business expansion



91.
What is the effect of import restrictions on prices?

	a.
	They cause prices to drop.

	b.
	They cause prices to rise.

	c.
	They often cause prices to rise steeply and then drop.

	d.
	They usually do not have any lasting effect on price.



92.
What do sellers do if they expect the price of goods they have for sale to increase dramatically in the near future?

	a.
	sell the goods now and try to invest the money instead of resupplying

	b.
	sell the goods now but try to get the higher price for them

	c.
	store the goods until the price rises

	d.
	store the goods indefinitely regardless of when the price rises



93.
Which of the following is the best example of the law of supply?

	a.
	A sandwich shop increases the number of sandwiches they supply every day when the price is increased.

	b.
	A food producer increases the number of acres of wheat he grows to supply a milling company.

	c.
	A catering company buys a new dishwasher to make their work easier.

	d.
	A milling company builds a new factory to process flour to export.



94.
Which of the following receives government subsidies that are in place to protect the population rather than for economic reasons?

	a.
	a national car company in Indonesia
	c.
	tobacco growers in the United States

	b.
	small farmers in France
	d.
	national airlines in Western Europe



95.
What factor has the greatest influence on elasticity and inelasticity of supply?

	a.
	profit
	c.
	labor

	b.
	time
	d.
	financing



96.
The calculation of GDP would include

	a.
	the sale of a 25-year-old house.

	b.
	the income of a person who pays rent by babysitting for the homeowner’s children.

	c.
	the income of a high school English teacher.

	d.
	the price of the steel used to build a new hotel.



97.
An example of a nondurable good is

	a.
	a new car.
	c.
	a paperback book.

	b.
	a used car.
	d.
	a washing machine.



8.
GDP expressed in constant, or unchanging, prices is called

	a.
	real GDP.
	c.
	nominal GDP.

	b.
	price level.
	d.
	net national product.



99.
The amount of money a person has left of his or her income after taxes is called

	a.
	aggregate income.
	c.
	national income.

	b.
	personal income.
	d.
	disposable personal income.



100.
The lowest point in an economic contraction is called

	a.
	a peak.
	c.
	a recession.

	b.
	a trough.
	d.
	a depression.


ANSWER KEY

	1.
	C
	26.
	B
	51.
	C
	76.
	C

	2.
	C
	27.
	A
	52.
	C
	77.
	A

	3.
	B
	28.
	B
	53.
	D
	78.
	C

	4.
	B
	29.
	C
	54.
	B
	79.
	A

	5.
	A
	30.
	D
	55.
	A
	80.
	D

	6.
	C
	31.
	C
	56.
	D
	81.
	A

	7.
	A
	32.
	C
	57.
	D
	82.
	B

	8.
	C
	33.
	D
	58.
	B
	83.
	A

	9.
	C
	34.
	B
	59.
	B
	84.
	B

	10.
	A
	35.
	A
	60.
	C
	85.
	C

	11.
	B
	36.
	B
	61.
	C
	86.
	B

	12.
	B
	37.
	D
	62.
	A
	87.
	C

	13.
	C
	38.
	B
	63.
	A
	88.
	D

	14.
	A
	39.
	A
	64.
	B
	89.
	A

	15.
	C
	40.
	D
	65.
	C
	90.
	D

	16.
	A
	41.
	A
	66.
	A
	91.
	B

	17.
	C
	42.
	D
	67.
	B
	92.
	C

	18.
	B
	43.
	B
	68.
	D
	93.
	A

	19.
	C
	44.
	C
	69.
	D
	94.
	B

	20.
	A
	45.
	D
	70.
	C
	95.
	B

	21.
	B
	46.
	B
	71.
	A
	96.
	C

	22.
	D
	47.
	B
	72.
	A
	97.
	C

	23.
	C
	48.
	D
	73.
	B
	98.
	A

	24.
	B
	49.
	A
	74.
	C
	99.
	D

	25.
	A
	50.
	C
	75.
	A
	100.
	B


